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Так как NK//ML и AM=A1N=KC1 => 
LC=AM=A1N=KC1 => ML=NK && 
ML//NK=> MNKL-параллелограм => 
NM=KL

NK=V(4+4)=V8
NMA1:
A1M=V(6+1)=V7
A1(3;0;V6)
A(3;0;0)
M(2;0;0)
N(3;1;V6)
A1M{-1;0;-V6}
A1N{0;1;0}
cos(A1M,A1N)=(A1M,A1N)/(|A1N|*|A1M|)
(A1M,A1N)=0
NM=V(7+1)=V8=NK

K(1;3;V6)
NM{-1;-1;-V6}
NK{-2;2;0}
(NM;NK)=(2-2+0)=0 
=> MNKL-квадрат

трGMA и трLCT:
угGMA=угTLC
AM=LC
угGAM=угLCT=90
=>трGMA=трLCT=>
GM=TL
GM=TL и NM=KL=>
трGNM=трKTL=>
=> GN=KT и 
угGNM=угLKT

sin(угBML)=2/V8=V2/2
угBML=45=угGMA =>
угGMA=угMGA=> 
GA=MA=1
G(3;-1;0)
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(y-y1)/(y2-y1)=(z-z1)/(z2-z1)
(y-1)/(-1-1)=(z-V6)/(0-V6)
(y-1)/(-2)=(z-V6)/(-V6)
-V6(y-1)=-2(z-V6)
-yV6+V6=-2z+2V6   -   (GN)

(y-0)/(0-0)=(z-0)/(V6-0)
y=0   -  (AA1)

-yV6+V6=-2z+2V6
y=0

0+V6=-2z+2V6
y=0

2z=2V6-V6
y=0

z=V6/2
y=0

WM=V(1+6/4)=V(10/4)=V10/2=WN
WH=V(10/4-8/4)=1/V2
S(WNM)=S(KPL)=V8/2V2=1
S(сеч)=S(WNM)+S(KPL)+S(NKLM)=
=1+1+8=10
Ответ:10
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